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Instructions for Candidates

1.
2.
3.

Attempt any four questions.
All questions carry equal marks.

Answers may be written either in English or Hindi; but the same medium should be
used throughout the paper.

a) Explain how the pursuit of personal objectives by bureaucrats lead to an excessive
size of the bureaucracy and thereby inefficiency?

b) Those who like expenditure on libraries and the old-age homes can reside with
others of the same persuasion. Explain. Also, explain the reasons that weakens this
claim.
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a) Explain how will it be better to provide for local public goods through a
decentralized regime as opposed to centralized regime? If the government moves to a
centralized regime to provide for local public goods, what will happen to deadweight
loss

i) if the price elasticity of demand for the locals is elastic?

i) If the difference in taste and preferences of the two different localities is small

b) Explain the model that helps in achieving optimum number of residents and the
expenditure on local public goods.
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3. a) Graduate student A smokes, but his office mate hates smoking. A and B have the
following Utiltiy functions
UA = 200-0.3z2 +30z and UB = 200-12z where z is the number of cigarettes smoked
by A. Determine:

i)  Number of cigarettes smoked by A when the external effect on B is ignored

ii) Socially optimal level of cigarettes that should be smoked by A

iii) Optimal Piguoviantax needed to determine the social optimum

iv) The outcome with Coasian bargaining when the property right is assigned to the
smoker and to the non- smoker

b) What are two fallacies of optimal taxation? Lowering marginal tax rates for the upper
income individuals is a pareto improvement. Comment on the statement.
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4. a) What are the views of Ayush Bajaj & Gaurav Datt in financing the increased
expenditure in lieu of health and economic crisis caused by Covid-19 pandemic?

b) In a competitive economy with complete information and zero transaction costs,
the allocation of resources will be efficient and invariant with respect to legal rules of
entitlement” Elucidate this in the context of externalities. What are the issues
inpractical relevance of this theorem
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5. a) Discuss the characteristics of a good tax policy with respect to India. Also
comment on the challenges faced by developing countries to make their tax policy
more inclusive.




b) In the market for apples, the demand curve is Q = 50—3P and the supply curve is Q
= 2P. The Government decides to raise revenue by taxing consumers 2 for every apple
purchased.

1) Graph the supply and demand curves, and indicate how the curves shift after

implementation of the tax.

i) Calculate the pre-tax and after-tax equilibrium quantities and prices.

iii) Calculate the change in consumer and producer surplus from the tax.

iv) Calculate the burden of the tax borne by consumer and producer
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6. a) Why would more progressive taxes have higher marginal tax rates? Explain your
answer using diagram. Can we comment on the degree of deadweight loss given more
progressive taxation?

b) Identify the income and substitution effects on the consumption levels resulting
/from the tax on interest income on a saver.
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